Math 257/316 December 2009 Final Exam – Question Analysis

Student population (by program):

	
	316
	257

	
	101
	102
	103
	101
	102
	103

	BIOP
	10
	2
	0
	0
	0
	0

	MATH
	6
	0
	11
	0
	0
	0

	PHYS
	9
	2
	10
	0
	0
	0

	ENPH
	1
	0
	0
	37
	4
	14

	CIVL
	0
	0
	0
	13
	47
	6

	GEOE
	3
	1
	0
	1
	7
	0

	CPSC
	2
	0
	6
	0
	0
	0

	Other
	13
	2
	10
	1
	1
	2

	Total
	44
	7
	37
	52
	59
	22


Scores on Question 2 were collected. Question 2 had three parts: part a and b were computational, part c asked to explain how to implement the numerical scheme. 

Average scores by course/section are shown below (left table). Scores on part c were particularly low, with a large number of students scoring zero (right table). Students in MATH and CIVL performed equally poorly on this question. 

	Average Score
	 
	Section

	Q2-a
	101
	102
	103

	316
	83.3
	87.5
	75.7

	257
	94.2
	62.7
	77.3

	 
	
	
	 

	Q2-b
	 
	 
	 

	316
	67.8
	57.3
	63.1

	257
	65.2
	48.2
	61.4

	 
	
	
	 

	Q3-c
	 
	 
	 

	316
	54.7
	39.1
	31.4

	257
	43.5
	13.1
	19.9

	 
	
	
	 

	Total - Q2
	 
	 
	 

	316
	76.6
	68.8
	68.7

	257
	72.8
	67.9
	72.5


	
	total_students who scored zero in Q3-c

	Program
	316
	257
	tot
	%

	BIOP
	2
	 
	12
	 

	GEOE
	3
	6
	12
	 

	LFSC
	2
	 
	 
	 

	ASTR
	1
	 
	 
	 

	EOSC
	4
	 
	 
	 

	PHYS
	5
	 
	21
	 

	ATSC
	1
	 
	 
	 

	MATH
	11
	 
	17
	65%

	ECON
	1
	 
	 
	 

	MASC
	3
	 
	 
	 

	CPSC
	2
	 
	8
	 

	ENPH
	 
	21
	56
	38%

	CIVL
	 
	44
	66
	67%

	IGEN
	 
	1
	 
	 

	MECH
	 
	1
	 
	 

	ELEC
	 
	1
	 
	 

	UNKN
	1
	 
	 
	 


